[image: image1.png]Mia delivers the local newspaper. Her
base pay is $5 per week, and she gets
$0.25 per paper.
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Which of the points on the graph
represents Mia’s pay for delivering 25
newspapers in a week?
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[image: image2.png]Height (m)

The graph below represents the
relationship between the height, b, in
metres, and the age, a, in years, of a tree.
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What is the approximate height of
the tree if it is 10 years old?

a 105m
b 85m
¢ 65m

d 45m






[image: image3.png]The graph shows the shoe sizes of girls
of various heighs
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Which point represents a gisl whose shoe
size is smaller than expected for a girl of
her height?
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[image: image4.png]The data for five isosceles triangles with
perimeters of 24 cm are shown below:
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Which graph best represents the
relationship between the base length and
the area of the triangle?

a 4
T
s
]
0 Base length
(em)
b 4

Area (om?)
AN

.
Base length

(em)
~

¢ 4 .

Area (om?)

0 Base length
(em)

1/
/

e
O Base length
(em)

Area (om?)






[image: image5.png]Sunil surveys 200 students to find out
how much sleep they need. He finds that
students need less sleep as they get
older.

Which scatter plot most likely represents
the survey results?
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[image: image6.png]The scatter plot below shows the number
of goals scored versus shots on goal by
different members of a soccer team
during the course of a season.
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What selationship is shown in the
scatter plot?

A

There is no relationship between
shots on goal and the number of
goals scored.

The number of goals scored
deereases as the number of shots on
goal increases,

The number of goals scored
increases as the mumber of shots on
goal increases.

The number of goals scored stays
the same no matter how many shots
on goal are taken.




[image: image7.png]Study the graph below, which shows how
the percent of the Canadian population
that is non-farm rural has varied over
time.
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Which statement about the percent is
true?

a It stayed constant from 1951
t01991.

b It increased from 1966 to 1976.

¢ It decreased at a constant rate
from 1961 to 1981

d It increased at a constant rate
from 1951 to 1971




[image: image8.jpg]Malia records the number of ice cream
cones she sells cach day and the maxinum
daily temperature. as shown on the graph
below.
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According to this graph. approximately
how many ice cream cones will Malia sell

on a day when the maximum temperature
is 36°?

a 80
b 110
c 115
d 135




[image: image9.png]Which of the following graphs represents
a linear relation?
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[image: image10.jpg]This graph shows the relationship between
students’ marks and the number of classes
that they have missed.
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[image: image11.jpg]‘Which line of best fit is most appropriate
for the data?
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[image: image12.jpg]A student creates a table to show the
relationship between the side length of
a square and its area.
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Which of the graphs below best represents
this relationship?
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